PPN 1 M0 aN S WY 73730 YR
DINIIVLY DINUTIAY . D31 1 AII1I10U3 Ww3n7 'nownyan 1o4a0

mrnan npona

2017 — ¥yWN AN NI TVIN
90729 NONVN 19010

NN MIIYN

NPIIVPIR DO — DIRDTD
10230 PPN

MYV VI APNAN YN N

ORY WY DT DNV $NO9YNN NNOMY PORYN Man A
APNOY VIO DN TA02 MINY WNRN DY DYDY oY
v DINPI 40 N Pon
TP 20 — AORY DD T HNR NONY DY MYD v 2-1 MONY
YIPI 20 — NORY 90 T .HANR NONY DY MO v 4-3 NMORY
P 60 72 PN
TP 20 — NORY DI TIY .NIORY WIDY Dy nyY ¥ .10-5 MORY
1Y) 100 :2950-404a

NNYPN WIANNN PAYNNI IN T 92 2WNNI wonwnd Px — pavnn .1 WUPPYUY AN NY WIN L)
IPNYN

A0YPNN DOT RONIND PR .MINSINT IMN DY 4292 40N W0Op .2
D MDY 3

72N 1IN 0NV DMIPNI TINYD 190N DNIT NPHN NIN PIXD ¥ INPN MINND 4
ST0Y00 90 PN

1°N2N MORY 75 DN WY §T2 DRI DX Y Xpo v 1 OO MINNA .0
I Y XTI

NN OPDA P NPNIAN NIINNI PYNIT TP IN PRV ¥ .2
PTA» MWD .NPYTAO MAWNN PI900 NN 1% Ty DD v
MOTY MAWN IPTIM XD . TINYA 1NN IT0 29D

AMN2 P ANoa 7253 vya NPNIN NIINKI MWD DX NP Vv .3

NI NONWN 990D TN PISDY WIN Tinya NAwN Do I nnnb v 4
DY NORYD NIN PINYIY TIN PR .PYON

NYMN DN DWIY W 7253 D3NN DIANHI DN W VYL .5
27729 ROV 1D 3P POY aYns Tinyn WK1 Nopv”

NWN NMIXN TNNN 29D DXIWON DD POINI NON PIND XD ¥ 6
STPY2 N3N XD PN YAOY NOD A0

DONDD PN POINDY INT P8O ¥ PN NHNYA 0N TNYTO OX .7
ID9NA DN PRI LADNYR PINSA TIVHRNY 10 WaNOY

1A9NAN 971NN NN NIINN IN PHRY NININT VININ NN SN
NN D2N2IDY NN NMINON 1IN 99T PYHA MINDIIN AT PONYA NPNINN

fMnbNna



2017 2aN-90729 1INV

(7173 40) C++ NINN —'N PN

.3-4 MYRY a0 NNN NIRY 51 1-2 MIRY 130 HNN AIRY 2Y MY
(M T1YP3 20 — NONY YY)

1 NYNY

S TPDONP TPXPND PIND
bool what(int n)

{
if (n < 10)
return true;
if (n%10 = n/10%10%*2)
return false;
return what(n / 10);
}

N (P 2)
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bool areCouplesSwapped(int arri[], int arr2[], int size)

.size NNy YT arr2 -y arrl 099V MY NYIAPN PPN
21NN true PINN MIPNMN
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: MINONT

: DY29YNN NAY true NNY

int arrl[] = { 1, 2, 3, 4, 5 };

int arr2|[]

{2,1,4,3, 5}

: DYOYNN NAY true NNY

int arr3[] = {1, 2, 3, 4, 5, 6 };

int arrd4[] = {2, 1, 4, 3, 6, 5 };

. oYV My false 1Ny
int arr5[] = { 1, 2, 8, 4, 5 };
int arr6[] = { 2, 1, 4, 3, 5 };
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void rotateColumnsRight(int matrix[][COLS], int rows)
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3 NHNVY

(0NN 20 H¥ Y9DPN THINI NHINN) DTRD DV 1N PMTYY Person Npbnnn nn»p > M

Sy DNIPNN Y¥IN NTY NN N9OWMN Student APINNRA NWAY 11 APYNNK Y NN MY
L0ITIVON

A19N TPYNHRN DXVPMIN I¥»HN main PN

void main()

{
Person p1("gogo", 1990);
pl.print();
cout << endl;

Student s1(p1, 87.3);
s1.print();
cout << endl;

Person* p2 = new Student(Person("momo", 1995), 92.1);
p2->print();

cout << endl;

delete p2;

S TPINNN NN VIS PN

main -1 Y905 ,7PRNON NN MNdY PiY 1o Student -y Person MPONNN NN I1AND
ANINY VYN NN TINN DN

4 NINVY

.main -y MPoNNn 2 o0 TP Yop N2
.PINNN VIS VTP NN NI DY

#include <iostream>
using namespace std;

class A

{
protected:
char* str;
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public:
A(const char* str) : str(NULL)
{
cout << "In A::A c'tor str=" << str << "\n";
setStr(str);
}
A(const A& other) : str(NULL)
{
cout << "In A::copy c'tor\n";
*this = other;
}
const A& operator=(const A& other)
{
cout << "In A::A operator= str=" << other.str << "\n";
if (this |= &other)
{
setStr(other.str);
}
return *this;
}
void setStr(const char* str)
{
delete []this->str;
this->str = new char[strlen(str)+1];
strcpy(this-> str, str);
}
const char* getStr() const
{
return str;
}
2
class B : public A
{
Aa;
int num;
public:

B(const char* str, int num) : num(num), A("kuku"), a(str)

{

cout << "In B::B c'tor str=" << str << ", a.str=" << a.getStr() << ", num=" <<
num << u\nu,,

}
|7
void main()
{
A al("bla");
B b1{"stam", 4);
B b2(b1);
A a2(bl);
}
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(Mm1py 60)_VHDL —'a pon
(MDY 20 — NHNVY Y9Y) 5-10 MINWN 1930 WITY Yy NIy

5 n4nv

(myjk) 7°n790 no>yn nwnnnn VHDL nawa noon 790 X (P 5)

DX INNND DVIN IR (DN DY) MUX |, D 1010 )2057 N71y1a) P 1ma oo
. TPYINN YD 1NNV IINN
library ieee; :
use icee.std_logic 1164.all;
entity myjk is port(

J k, clk : in std logic;

g, ng: buffer std_logic);
end;
architecture jk of myjk is
signal jk: std logic vector(l downto 0);

begin

process(clk, j, k)

begin

jk<=j &Kk

if clk'event and clk = '1" then

case jk is
when "00" => q<=q;
when "01" =>q <=0,
when "10" => q <="1};
when "11" =>q <=not q;

end case;

end if}

nq <= not q;

end process;

end;

. myjk 0Tpn Tipa wanwnw (tars) Nan Tpn P APy 7)

NIDIND NN INNHNN OWIN (00D OYWY myjk 2ynn n7iva) p11mna vvIo
NN tarS 10NN YT-IY INPNY
library icee;
use ieee.std_logic 1164.all;
entity tar5 is port(
clock : in std logic;
a, b, ¢ buffer std logic);
end;
architecture mycnt of tar5 is
signal notc : std logic;
component myjk
port(j, k, clk : in std_logic;
g, nq: buffer std logic);
end component;

begin
jke: myjk port map (b and a, '1', clock, ¢, notc);
jkb: myjk port map (notc and a, a or ¢, clock, b, open);
jka: myjk port map (notc,'1", clock, a, open);

end;

(assert nTya n'8¥IMA T '7'713). myjk dnn vay TEST BENCH 25 . (72 8)
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6 NHNY
. ANAD taré NNIONN NNM

Library ieee;
Use ieee.std_logic_1164.all;

Entity taré is port
(a, b, c, clk : in std_logic;
sel : in std_logic_vector(2 downto 0);
ql, q2 : out std_logic);

end ;

ARCHITECTURE test OF tars IS
Signal z1, z2 : std_logic;
Begin
71 <= ¢ when sel(2) =1’ else
b when sel(1) =1’ else
a when sel(0) =1’ else
0

ql<=z1 when clk =1 else 'Z ;

Process (a, b, ¢, sel, clk)
Begin

if (clk =71’ and clk’ event) then q2 <= Z2;
end lf,

If sel(0) =1’ then z2<=a;
elsif sel(1) = '1’ then z2<=b;
elsif sel(2) = '1’ then z2<=c;

else 72 <='0";
end if;
End process;
End;
PYINN T 9Y ARINHN NN DIYNRN IR Y N (773 10)
BUFFER TRI STATE 2559 ¥ YPPon NN NP1 710N -
.NNAN 1ANNY g1, g2 MMYH HX PHYM NYI0N IR NIN .2 ('PI10)
clk o |1 1o | o [ Lo | |0 D
sel(O) 11 111 vl 10 AL 1 K 11 10 i

sel(l) 11’ 11 11 11! 0 Q! 11 g 10 o

Sel(z) ?0) )07 71? 71) )1’ )1’ ll? ?1’ ’0) 70}

ql

q2
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: ©axn Mo Mnnnn VHDL nava nan 120N Nm

library ieee;
use ieee.std logic 1164.all;

entity tar8 is port(

clock, reset, dir : in std_logic;

q: out std_logic_vector (3 downto 0));
end;

architecture test8 of tar8 is
type smis (s0, s1, s2, s3);
signal state : sm;

begin

process(clock, reset)
begin
if reset = '1' then state <= s0;
elsif clock' event and clock = '1" then
case state is
when s0 =>
if dir = '0' then state <= s1; else state <=3 ; end if;
when s1 =>
if dir ='0' then state <= s2; else state <= s0 ; end if;
when s2 =>
if dir = '0' then state <= s3; else state <= sl ; end if;
when s3 =>
if dir = '0' then state <= s0; else state <=s2 ; end if;
when others => state <= s0;
end case;
end if;
end process;

with state select

g<= "0100" when sl,
"1000" when s2,
"1100" when s3,
"0000" when others;

end architecture;

7NWN NN PRI IMoore X Mealy D10 Nonn OND N (') 4)
NN SY (MYI7 INMNT) DXIAXN NINHNTVVID AP 12)

"ONE HOT” noown NN nI¥pataon . (9 4)



2017 2>aN-90729 NorY

9 nONVY

N NNRN NS VHDL-1 nxdn nvon 2o, mspnoy COMPONENT natya
:N2AN

CLOCK >

CLOCK: xan -
C,B,A:oxvm -

: NI NINNN

: D 20N o7 297 wmonY MYDFF owa mopon Xy 5)
; CLK,D:mom -
, NQ,Q :onsm -
NQ =notQ :9wN>

MYAND owa FUNCTION »n9tya mo2535ya AND aond mon A 5)
SN NN v ARCHITECTURE -0 Tina mospnon nx nodh v -

FUNCTION -1 0oy MYDFF COMPONENT 2 nunwnn nmowxin n2onn . (s 10)
(33 AND mono o9 20 may) MYAND

10



2017 2>aN-90729 NoNY

10 HRY

(DORYN NNVPY>IINY M) TP IR VHDL nawa 200 X (P 15)
AN PN NN NN NN INDNN

X w
ya |
L 4 .Y 10 au—
4
b 61
! [
Yi :
9 tj Y -
I ©
? _—
T ‘I d ; 4
‘ Yo
&
[ S 2]
¢
X,C:Nan -
W: N -

ni'nin

9N 99 HY NN MY TAR MDD PONNI wonwn -
. 1OPYIIIND Y3PN PYNI D) YONUNI NN -
9PN DIMONN DYV VNN -

Y0,Y1,Y2 o»9o1now D xann My DYO,DY1,DY2 o%i»0oa qonn
(NNRNNI)

BUFFER -y INOUT ,OUT y3 571201 NX N18p21 7200 .2 (P 5)
(VHDL -2008 -5 D) on»nn)
'TRI STATE 25592 7NN ¥ 00

! pnosHa

11



